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B K £ NET HDCP  TOTAL oUT  IN OUT NET Y K £ NET HDCP  TOTAL oUT  IN OUT NET
BB hmE= 65.0 27.0 92 (45 47 ) 315 B B s =R 64.0 18.0 82 (45 37 ) 360
261 EHN FOE 70.0 18.0 88 ( 43 45 ) 340 2 Bk & 65.0 15.0 80 (41 39 ) 335
3L WL & 70.0 8.0 78 (39 39 ) 350 3 W BUE 66.0 20.0 86 (44 42 ) 340
AT \E EE 70.0 20.0 90 (45 45 ) 350 AT B Ei 67.0 14.0 81 ( 38 43 ) 310
567 FRHA 2 71.0 30.0 101 (51 50 ) 360 S BEM == 67.0 13.0 80 (41 39 ) 345
6z K& M 71.0 11.0 82 ( 43 39 ) 375 6z EA H— 67.0 12.0 79 (41 38 ) 350
T EE BX 72.0 16.0 88 (40 48 ) 320 TR R R— 68.0 26.0 94 (45 49 ) 320
8z ML FH— 72.0 12.0 84 ( 43 41 ) 370 8z NH Wt 68.0 27.0 95 (47 48 ) 335
9T  HAK JET 72.0 20.0 92 (48 44 ) 380 o BlE # 68.0 21.0 89 (44 45 ) 335
106 #B R 72.0 18.0 90 (50 40 ) 410 106 $BH E—HB 68.0 17.0 85 (43 42 ) 345
1160 B EA 73.0 28.0 101 (46 55 ) 320 1 BA) 2 70.0 13.0 83 (42 41 ) 355
1260 AR B 73.0 19.0 92 (43 49 ) 335 12t EHMA BE 71.0 18.0 89 (42 47 ) 330
1361k AR 73.0 8.0 81 ( 4 40 ) 370 1360 B B 71.0 16.0 87 (44 43 ) 360
1462 #HtE gk 73.0 17.0 90 (50 40 ) 415 14 PR =— 71.0 15.0 86 (44 42 ) 365
1560 =87 B 74.0 8.0 82 (41 41 ) 370 1656 R% & 71.0 10.0 81 (43 38 ) 380
166z  EHH AIE 74.0 17.0 91 (46 45 ) 375 1660 JEER &= 72.0 22.0 94 (48 46 ) 370
1760 RE & 74.0 12.0 86 (44 42 ) 380 1760 Wk 24 72.0 18.0 90 (46 44 ) 370
186 M F=E 74.0 21.0 95 (50 45 ) 395 1861 E LR BFER 72.0 21.0 93 (49 44 ) 385
1960 %M #58) 75.0 22.0 97 (46 51 ) 350 1960 ERE 72.0 20.0 92 (49 43 ) 390
206 KB E— 75.0 22.0 97 (47 50 ) 360 204 BAAK Bsh 73.0 18.0 91 (44 47 ) 350
251 #HFHE EA 75.0 17.0 92 (48 44 ) 395 2501 EH pAY 73.0 20.0 93 (46 47 ) 360
3061 EH B 76.0 30.0 106 (50 56 ) 350 3067 o =RAl 73.0 13.0 86 (44 42 ) 375
35 B B 77.0 20.0 97 (48 43 ) 380 35 BlE M= 74.0 17.0 91 (49 42 ) 405
4006 &I A 77.0 11.0 88 (46 42 ) 405 40f7 EH BF 75.0 16.0 91 (46 45 ) 380
4561 A = 78.0 12.0 90 (47 43 ) 410 450 BAX B=H 76.0 23.0 99 (47 52 ) 355
bOhr  #&M A3 80.0 10.0 90 (45 45 ) 400 50 @A BEF 77.0 13.0 90 (45 45 ) 385
606 &M FExX 81.0 6.0 87 ( 43 44 ) 400 60z A E HA 79.0 15.0 94 (49 45 ) 415
706z B &T 82.0 16.0 98 (49 49 ) 410 706 N 81.0 15.0 9 (46 50 ) 385
80 THH ER 83.0 5.0 88 (45 43 ) 425 80z AIHE Bk 84.0 27.0 1M1 (55 56 ) 415
9000y = E2 88.0 12.0 100 (55 45 ) 490

BBE )il fOE 93.0 28.0 121 (55 66 ) 410 BBE RN AF 86.0 30.0 116 (58 58 ) 430
BGE Bl & 78 (39 39 ) Par 72 a—ZL—k  zO—FL—h

BIE(F) 6,606 yard 71.3 128

BE(E) 6,237 yard 69.5 123

BiE(£) 5892  yard 68.1 119

BE(R) 5281 yard 64.9 114

ZH(FK) 5281  yard 70.1 123

ZE(k) 5,185  yard 69.5 123




